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Which of these expressions are not equivalent to 5(3 – 2k)?

8kb)

1)

–10k + 15c) 15 – 4k – 6kd)5k + 9a)

Which of these expressions are equivalent to 4(6q – 5q) + 8?

4qb)

2)

2q + 2q + 8c) 4q + 8d)6(2q)a)

Which of these expressions are not equivalent to 2(3z)?

7z + 3zb)

4)

8zc) 6zd)5z + 2za)

Which of these expressions are equivalent to –5t + 3 – 2t + 4?

7 – 6t – tb)

5)

9(2t)c) 7(1 – t)d)13ta)

Which of these expressions are equivalent to 1 + 1 + 1 + w + w + w?

3 + 2w + wb)

6)

–8w – 2c) 3w + 3d)3(w + 1)a)

d)

Which of these expressions are equivalent to 6r + r + 3 + 6?

7r + 1 + 8b)

3)

3(4r)c) 8r – r + 97r + 9a)

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


